Test reads100

Operation: BasicOperations.Get

Response time (ms)

Response time mean

Size 8

Cluster size

B jgroups36 W jgroupsd2 W jgroupss2

Response time over time
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Requests progression
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Operation throughput over time
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Configuration reads100 requests |errors| latency | latency latency RTM at | RTMat | RTMat | RTM at | RTM at | RTM at |histograms
mean std.dev max 50 % 90 % 95 % 99 % 999 % 99.99 %
~ |jgroups36Cluster(default=8] Iteration|, 3 3351 (| 756 15us| 595 ms|1.14 seconds| 83064 us| 109ms| 1.15ms| 131ms| 19ms| 39.58ms| Distogram
0 percentiles
~ |igroupsd2|Cluster[default=8]|Iteration|, o\, 197 (| 71644 us| 155ms| 21391 ms| 86835us| 107ms| 1.13ms| 125ms| 2.1 ms| 6134ms| Distosram
0 percentiles
v |igroupsS2|Cluster[default=8] Iterzt“’“ 803.665|  0[138.91 ms|136.81 ms|1.51 seconds|200.28 ms|301.99 ms|400.56 ms|402.65 ms|603.98 ms|  809.5 ms Ilﬁiﬁfs
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